
1450 W. 228th St. #8venue

" •.

ASSEMBLY INSTRUCTIONS

1. Place both 1-1/2" angles on flat surface with the axel nuts facing the opposite side.

2. Place a 1" round cross member at the top holes between the 1-1/2" angles.

3. Install two 3/8-16 button socket cap screw, thru the hole in the angle into the threaded
end of cross member. Hand tighten for now. Tighten after assembly is complete.

4. Place second cross member at the middle holes between the 1.1/2" angles.

5. Install a 3/8-16 button socket cap screw thru a hole in the diagonal brace, then
thru the angle into the threaded end of the cross member. Hand tighten for now.
Tighten after assembly is complete. Install opposite side the same way.

6. Place the base perpindicular to 1-1/2" angles.

7. Install a 3/8.16 button socket tap screw thru the hole in the diagonal brace, then thru
the hole in the base and install 3/8.16 nylok nut. Install opposite side the same way.

8. Install 3/8-16 button socket cap screw thru bottom hole in 1-1/2" angle. Install
opposite side the same way.

9. Stand assembly up and install 3/8.16 botton socket cap screw on the back side, thru
the bottom hole in 1.112" angle, then thru the base and install 3/8-16 nylok nut. Install
opposite side the same way.

10. Tighten all of the hardware now.

11. Install 1/2" axel bolt thru the wheel with the offset to the inside. Install 1/2" washer
onthe 1/2"axel bolt. Install axel bolt with washer thru 1-1/2" angle into threaded nut.
Hand tighten axel. Install 1/2" jam nut on to the axel bolt and tighten up to the nut.



.. \
"",''--~ \

.... -- ..- -- ..--.---- - .. '.'- ._..... _ ---.-. - - -- - --.----- ..-.-- ---.- - -- .-.----- ..-- - ..-. -.--.- _. --. -.- --...... I

--.--.... ..--t/0.A?.j;J.L,E---Q!tZ2lJ./E,dss~~_.ac,£..,;?;A.2~f:.4f~_e/;CJd..l: i
I

.- ..•.. -- ... -- .•.....• --.- ••. - .-.- •. - .•••• -. -'-.-.-.- ••-- -- .•_-- .•. - .• ----.--.-. _n" .-_.- •...••.-.-- .. ---.- -.-.--.----- •• • __ .__ •••• _._._ ..•... - .... ._ .•__ I

:U~.~z?/1.;;;t=S_____,L-1! IL!Z~-L<?-~-Y----.--...---.-. ._._._.. " __.'..__..___.______I
1. IFIl IC~A;J~ ~ . . . I:~~~~:~-~~:.~~~--~--=~~..- ~~-=-=:-_.-~=~:::=O_"_' LI-:_~]d~_.~~._.____. .••.~=~_:_~~.._~~_:-..•:

3 & ELL ..__ .. Q~.~~Ld2[~IfJ£;~__.. L_/~4.~e~._ ._.
lID . I~=::::=~~~:-:::::.=::2;~~~-~~~.2::=-~~:-_=_:--:=:__._:==_=:~-~=::::_.-::=:~I

._-_._._ _ _._--- _ •._- _._ •._.- ._._-'.•'--"-"-' -•..._-_._-_.- ..•.._~._- __ .•.. _ ...•- .....•..•.. - ..•_ .._--_._--_ .._._ .._ ,. . ' ..-, .._ •.._. -'- .•'"

. . ~

---"---_ .._--_. __ .~_._.._-_._._.----_ .._ .._----_._--,-.-_._-----_._---------_._-----------"'--_._------_._---.-_.~._-------.----_._.- --_.~

;. . d/l £l.i.)_0,2L1~~._._.__.r2<_£A. __ A.X~_c;.:,_~t.r__&_=/.3._>s__~'r_.. ..._....._.

------ .. --- - ...-- -.------ .C2.EfL_ ..__~_t3_:S.!I.~~.CE~J£_.!JX__,£-C-_~~C-)_.._.·
-------- -- ""--- ,....._._.s:d_c& __.__.J_.&~!::L/.JL(6C._(EQ~._~,(.e~.'-.4t;r)--__

• -.. -_. __ ._ •• on ._._.' ._. __ • __ 1Q.£A... __~!J_.:::-.L£2. d.«_dQ --<dL-I.~'L'''''?>'_«b_?c... .__

------.---..-----. __._. . . G.._~!1 J!~__~L' __/V .y.£.<2£;.& U_C .__..._ ___...•
-----------'. __ ._------_._._- ._-- ~--_.--------- --"_'~._-------_.._.,---_._-----_ .._'---_ .._--_ ..._ ..._-----_ .._._-_._- •._-----_._-_._--_ .._-- ._----_ ..._--_._.- ..... _ ..

.__ ._-_._-.-. __._....--- ._-----~._,..•_-_._. __ .'.._ .._-_.__ ..~.__ .,'.'._. __ ..._ ..._,-""---' .."--_ .•..__ ..•.__ ..._._._.__ ._- .._--_._-, .- ...•.--_ ..__ .•- ..,---_._--------- ..__ ..... ,_ ..•.... --_._,_._--_ ..__ •.._.._,._.


	00000001
	00000002

